

Tel: +1 844-595-8010

hello@uvt.us

https://www.uvt.us

**Invoicing Address:** 

Salinas Police Department

312 E Alisal Street

Salinas CA 93901

**United States** 

**Shipping Address:** 

Salinas Police Department, Stephen Sparks

312 E Alisal Street

Salinas CA 93901

**United States** 

**\( +1 831-758-7090** 

Salinas Police Department, Stephen Sparks 312 E Alisal Street Salinas CA 93901 United States

# Quotation # SO210154

Quotation Date:Expiration:Salesperson:06/01/202308/30/2023Jarret Rhyner

DESCRIPTION	QUANTITY	UNIT PRICE	TAXES	AMOUNT
[101-129-2001] DJI Matrice 350 RTK w/Care Enterprise Basic 1-Year Plan	1.000 Units	9,129.00	Sales Tax	\$ 9,129.00
[101-129-1021] DJI Matrice 300 Dual Gimbal Connector The DJI Matrice 300 Dual Gimbal Connector is an upgrade to the stock gimbal connector. The Dual Gimbal Connector for the DJI M300 allows you to mount two DJI SkyPort-compatible payloads to the bottom of your Matrice 300.	1.000 Units	250.00	Sales Tax	\$ 250.00
[101-107-1141] DJI Zenmuse H20T w/Care Enterprise Basic The Zenmuse H20T quad-sensor payload from DJI combines high-resolution visual and thermal cameras into one single powerful payload package for the M300 drone. With a 20 MP zoom camera, a 12 MP wide-angle camera, and a 640x512 thermal camera, the H20T captures some of the highest-resolution imaging on the market. Its laser rangefinder enables precise focusing, target locating, and unbeatable tracking accuracy. All of this is contained in an IP44, weather-rated housing and integrates seamlessly with the M300 through DJI SkyPort 2.0 providing full control using the DJI Pilot application.	1.000 Units	9,809.00	Sales Tax	\$ 9,809.00



Tel: +1 844-595-8010 hello@uvt.us

https://www.uvt.us

[100-110-1004] UVT SkyOptix 60+ Tactical Aerial Spotlight		1.000 2 Units	2,199.00	Sales Tax	\$ 2,199.00
UPS Ground Free Shipping		1.000 Units	0.00	0%	\$ 0.00
	Untaxed Amount			Ş	\$ 21,387.00
	Taxes				\$ 1,978.30

The completion of this transaction via payment, Purchase Order, or electronic signature indicates your acceptance of our Terms & Conditions, available online at www.uvt.us/terms.

The contents of this document are confidential and proprietary and are intended only for the recipient specified herein. It is strictly forbidden to share the contents of this document with any third party, without receiving the prior written consent of UVT.

Payment terms: Net 30



Tel: +1 844-595-8010

hello@uvt.us

https://www.uvt.us

**Invoicing Address:** 

Salinas Police Department

312 E Alisal Street

Salinas CA 93901

**United States** 

**Shipping Address:** 

Salinas Police Department, Stephen Sparks

312 E Alisal Street

Salinas CA 93901

**United States** 

**\ +1** 831-758-7090

Salinas Police Department, Stephen Sparks 312 E Alisal Street

**United States** 

Salinas CA 93901

# Quotation # SO210155

Quotation Date:Expiration:Salesperson:06/01/202308/30/2023Jarret Rhyner

		UNIT		
DESCRIPTION	QUANTITY	PRICE	TAXES	AMOUNT
[101-138-1009] DJI Matrice 30T w/Care Enterprise Basic	3.000 Units	8,979.00	Sales Tax	\$ 26,937.00
Does not include TB30 Batteries or BS30 Charging Station.				
[146-101-1001] CZI LP12 Speaker & Spotlight The LP12 Speaker & Spotlight attachment combines a light source and aerial broadcast system into one single attachment explicitly built for the DJI Matrice 30 Series. The LP12's spotlight can be tilt-synchronized with the M30 or M30T's camera, keeping the light on your subject. The speaker is capable of playing either live audio or pre-recorded audio clips stored on the RC Plus or its own internal storage. This attachment comes with its own quick-release attachment mount.	2.000 Units	2,199.00	Sales Tax	\$ 4,398.00
UPS Ground Free Shipping	1.000 Units	0.00	0%	\$ 0.00



Tel: +1 844-595-8010 hello@uvt.us

https://www.uvt.us

Untaxed Amount	\$ 31,335.00
Taxes	\$ 2,898.49
Total	\$ 34,233.49

The completion of this transaction via payment, Purchase Order, or electronic signature indicates your acceptance of our Terms & Conditions, available online at www.uvt.us/terms.

The contents of this document are confidential and proprietary and are intended only for the recipient specified herein. It is strictly forbidden to share the contents of this document with any third party, without receiving the prior written consent of UVT.

Payment terms: Net 30



Tel: +1 844-595-8010

hello@uvt.us

https://www.uvt.us

**Invoicing Address:** 

Salinas Police Department

312 E Alisal Street

Salinas CA 93901

**United States** 

**Shipping Address:** 

Salinas Police Department, Stephen Sparks

312 E Alisal Street

Salinas CA 93901

**United States** 

**\** +1 831-758-7090

Salinas Police Department, Stephen Sparks 312 E Alisal Street Salinas CA 93901 United States

## **Quotation # SO210171**

Quotation Date:Expiration:Salesperson:06/02/202308/31/2023Jarret Rhyner

DESCRIPTION UNIT

QUANTITY PRICE TAXES AMOUNT

[101-139-1008] DJI Mini 3 Fly More Combo w/DJI RC

Fly longer with improved social media support when filming with the Mini 3 from DJI. Compared to the previous generation, the Mini 3 sports improved wind resistance and battery life, now offering up to 38 minutes of flight time. It also adds true vertical shooting, which is a feature that lets you rotate the gimbal 90° to film vertical shots that can be immediately shared on social media platforms. Like the Mini 2, the Mini 3 captures stunning videos in 4K HDR, uses OcuSync 2.0 for a transmission range of up to 6.2 miles, and includes a host of automated functions to make piloting easier. This version of the Mini 3 gets you ready for a day of shooting with a DJI RC remote and the Fly More Combo bundle of accessories.

2.000	798.00	Sales	\$ 1,596.00
Units		Tax	

[148-101-1001] PGYTECH Propeller Guard for DJI Mini 3 Pro	2.000 Units	22.90	Sales Tax	\$ 45.80
UPS Ground Free Shipping	1.000 Units	0.00	0%	\$ 0.00



Tel: +1 844-595-8010 hello@uvt.us

https://www.uvt.us

Untaxed Amount	\$ 1,641.80
Taxes	\$ 151.87
Total	\$ 1,793.67

The completion of this transaction via payment, Purchase Order, or electronic signature indicates your acceptance of our Terms & Conditions, available online at www.uvt.us/terms.

The contents of this document are confidential and proprietary and are intended only for the recipient specified herein. It is strictly forbidden to share the contents of this document with any third party, without receiving the prior written consent of UVT.

Payment terms: Net 30



LC ACTION POLICE SUPPLY

1088 N FIRST STREET

SAN JOSE CA 95112

TEL: 408 294-2677 • FAX 408 294-6444

**QUOTATION** 

Date

Aug-09-2023

EMAIL: <u>Stacy@LCAction.com</u>

STATE OF CA SBE CERTIFICATION # 1017260				
То:	Ship To:			
AUSTIN SCAGGS				
SALINAS POLICE DEPT				
P# 831-595-5679				
M: AUSTINS@CI.SALINAS.CA.US				

CUST#	QUOTED BY	EST. DELIVERY	F.O.B.	TERMS	
	Stacy Moore	45-65 DAYS ARO	PAID ONLY AS QUOTED FOR QUANTITES BELOW	Net 45	
QTY.	DESCRIPTION			PRICE	TOTAL
150	4330 40MM CS Liquid	Barricade, Spin Stabilized, 4.1" Lo	ong	28.29	4243.50
100	40MM White Smoke,	Pyro, 4.8" Long PO		20.70	2070.00
100	40MM Green Smoke,	Pyro, 4.8" Long PO		32.64	3264.00
100	4090-50 40MM Aerial	Flash-Bang, 50 Meter Warning Si	gnal	44.70	4470.00
75	for LENCO Gas Injecto	ed Canister Grenade, Pyro, Low Fl. r/See Note "NO LOCTITE")	,	51.11	3833.25
75		anister Grenade, Pyro, Low Flame ee Note "NO LOCTITE")	Potential (NL5230B for	46.11	3458.25
50	6343 OC-CS Vapor Gre	· · · · · · · · · · · · · · · · · · ·		43.52	2176.00
75	- 1			41.23	3092.25
75	NL5230 CS Canister Grenade (NL5230 for LENCO Gas Injector/8See Note "NO LOCTITE")			33.58	2518.50
50	6210 White Smoke Canister Grenade		31.82	1591.00	
50	6210G Green Smoke Canister Grenade		44.70	2235.00	
1	L140-4 SINGLE LAUNCHER C	COMPACT FOLDING STOCK & GRIP QUAD	RAIL (GL1-COMPACT)	1511.00	1511.00 0.00
					0.00
					0.00
					0.00
					0.00
SUBTOTAL				\$34,462.75	

	SOBIOTAL	\$34,462.75
Notes:	SALES RATE %	9.250%
	SALES TAX	3187.80
	SHIPPING	
	TOTAL	\$37,650.55